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Vl Semester B.Com. Examination, September/October 2023
(CBCS Scheme)

COMMERCE
Performance Management

Time : 3 Hours Max. Marks:70

lnstruction : Answers should be wriften either in Kannada or in English
completely.

SECTION - A

1. Answer any five sub-questions from the following. Each sub-question carries
two marks. (5x2=10)

a) What is Target costing ?

b) What is meant by cost pool ?

c) What is marginal costing ?

d) Give the meaning of llexible budget.

e) What is variance analysis ?

f) Name any lour liquidity ratios.

g) What is management report ?

SECTION - B

Answer any three questions. Each question carries six marks.

2. State the significance of Environmental Accounting.

3. The following data are available lrom the records of a company

Sales - t 60,000

Variablecost-t30,000
Fixed cost - t 15,000

a) Calculate BEP.

b) Calculate new BEP, il selling price is reduced by 10%.

c) Calculate new BEP, il variable cost is increased by 10%.

(3x6=18)

P.T.O.
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4. The standard material required to manulacture one unit of Product Z is

20 kgs. Standard price per kg of material is t 24. The cost accounts records,
however reveal that 23,000 kgs material costing t 5,52,000 were used for
manufacturing 1000 units of Product Z. Calculate the material variances.

5. A factory is presently working al 50"/" level activity and incurs the following
expenditure.

t
2,00,000

1,00,000

2,00,000

40,000

60,000

6. From the lollowing calculate cost driver rates

Activity Total cost
(<)

a) Set-up 1,00,000

b) Machine activity 1,60,000

c) lnspection and quality 50,000

control

d) Stores receiving 72,000

e) Material handling 28,000

f) Shipment 26,000

Cost allocation base

No. of set-ups - 400
No. of machine hours - 3,200

No. of lnspections - 1,000

No. ol requisitions raised - 1,200

No. of times material handled - 560

No. of shipments - 130

SECTION _ C

Answer any three questions. Each question carries fourteen marks.

7. The sales and profits for two years are :

Particulars 31-3-2022 31-3-2023

Sales t2,40,000 {2,80,000

Profits t16,000 <26,000

(3x14=42)

2

Material

Labour

Fixed overheads

Semi variable (50% fixed)

Variable overheads

Draw a flexiable budget at 90% level activity
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Calculate :

a) PA/ ratio.
b) BEP.
c) Profit when sales are < 3,60,000.
d) Sales required to earn a profit ol < 24,000.
e) Margin of safety in 2023.
f) Variable cost of the two years.

8. The information regarding composition and the weekly wage rates of iabour
force engaged on a job, scheduled to be completed in 30 weeks are as follows:

Category of Standard Actual
Workers

No. of Weekly
workers wage rate

per worker
({)

Skilled 75 60
Semi-skilled 45 40
Unskilled 60 30

The work is completed in 32 weeks.
Calculate the various labour variances.

No. of Weekly
workers wage rate

per worker
(r)

70 70
30 50

80 20

9. The cost of an article at a capacity level of 5000 units is given under'A'below.
For a variation of 20o/o in capacity above or below this level, the individual
items vary as indicated under'B' below.

AB
(<)

Material cost 25,000 100% varying
Labour cost 15,000 1 00% varying

Power 1,250 80% varying
Repairs and maintenance 2,000 757"varying
Stores 1,000 100% varying

lnspections 500 2O1"varying
Depreciation 10,000 100% varying

Administration overheads 5,000 25o/evarying

Selling overheads 3,000 25o/o varying
Total cost 62,750
Cost per unit '12.55

Find out the unit cost of the product at production level of 4000 unils and 6000 units.
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'10. a) What are the objectives of activity based costing ?

b) Explain the stages in product life cycle.

I ltffi ]il1 rfi ll flilt tilt lilt lilt

1 1. Explain the process of performance management inlormation system.

OtFrl- a

1. Ednd oJn$oaddo oS wd-$d*dezi erDdo:). de eru6i-4d4ri odd) codrl*). (5x2=10)

a) it:o *4.-t aodded: ?

b) d4d iBC, Dodde$ ?

c) dal)zjdo dzflaoddeatl r

d) doooaedd vod)drob dq,d cCF egtu.

e) drdrod: ad_edd oodded> t
f) qlDd)6idd,o ilae66ddd s&a"dd$. drotu.

g) Odrdmaddaoodde$ ?

aqFil- D

d$Jnd o$adoadda d]/a& $-d4deri erudotu. e,g {,d*d erdl erodrlsb. (3x6=18)

2. doBd dlr5Jid d)6'd rrdo$o.?tee:

3. * t$nd d)!&ad$ uodl iotsob ms)eio$O_sqldad.

draoD8rl$J - t 60,000

udc;ad:d dq- { 30,000

addq- { 15,000

a) id)n.g Bod)d6bn Eod)baobo.

b) d>oat: ddobo_10% eedolDmri, drar rd.):).g 8od) dodJbaclJo.

c) Dderatud d{do_ 10% Dodo$Dcrrd, doB idr,{g a3od) dodJ&Ao$o.

sd3
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4. daodr Z d e,ooEdd/i dea^&d 4drrsdd EE*D, r.ocb oi:nor,trri 20 d.23.

aarlo eddd -q;,dDsdd 8e < 24 4,.9 d.d.ri. dalom{d d>3o3oJrod 23,000 d.d.

xad:!,tf$d1 t 5,52,000 dod u$ld mdro 1000 doadr Z d o1).opr,3fdddi

erDs? O:Jd. ;iEd)D ddaJdiT'l9d:* dod:&AoOro.

5. r.od: dodlol> €,Brd 50% eruaod6.) dr%dO_EDo$FOddDnd aarto dr d9nd

dar;ledl c]o$Qd.

t
Fad:D,idr 2,00,000

rctuFd dal 1,00,000

xJ-d dalddr 2,00,000e2J

ed-DdeD7$d dal (50% x,-d) 40,000aJ' o

udod:d dul 60,000

uod: doooasdE uoJ:dro$ ds.tJrq 90% erDsadd? *t*do-dzs:r.

6. d$n.J d)abedeod dr,f,merd dddddi dodrbaoDD.

r l[ r\-{! tl r rrl {,ri dul dot3d erpd
dzi

(r)

a) ;o*dd 1,00,000

b) o$09 nouoQ 1,60,000

c) doaeod d:d: rbeo$t1 50,000

0o$ogsa

d) zDm$ rledonrad 72,OOO

e) E?dJD odrdd d)dl daEd 28,000

f) xanoedd 26,000

xadd noed, - 400

od:o$d dod ncaJ, - 3,200

dogeed nod, - 1,000

adddd noaJ, - 1,200

Odrbftd dfr;tfd noal, - 560

xarroedd ioeld - 130
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fdRd o$Ed6Ecid.6 d}Dd) Ed4d9d wgoA,. E.9 q,,dJi daNaeDtsodi'igr. (3x14=42)

7. dJaoou SQ o.Cl ,)ddl ddrilgd &eRd.

add 31-3-2022 31-3-2023

d)arrru t2,40,000 t2,80,000

eDd t16,000 {26,000

dod: baooro:

a) eDC dDolti dodDso.

b) idrtug ziod).

c) t 3,60,000 il)o-rlJt erad.,d

d) t 24,000 ottrlgiel ejeahd:d atnoru dng.

e\ 2023 dO drdJ a).9 so6reo.
' ar dr

f) ")dd') ddFz1ezi zJds-Erud dqj

8. fddod eroddslr 30 oaddO-dlRB?,J6rd ibog d:d> 6!dd droO ddi'l$.

€oinadcb ad
o

*o fiEdd E:Ddd r-2..)

cJOnsJt
J-rJ-JJ 

-J-)^ 

-rq\.,;Jrlo9l,/ .ro(JgJqJ(.,l
?J

^rvarrd

75

45

60

,eiirodd no$u

dr!O
(r)
60 70

40 30

30 80

de.:irndd

dJaO

(<)

70

50

20

&de.:.d EJa)FddJ
e)

erd dade.:rd 6-otuFdd)
doderrd&d Era)Fdd)

de.:ndd: 32 oaddO abJRisEnd.ct ..

Dq Era)rd droarirlddr dod)3"6cbD
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5)drn. dz3

fJaDrd d?*
ad

odeo d)d) odrdd

dogeod
i6'de

-7-

9. r.od: 6fga5 woddi d*ddi 5000 o$raCIr, eroaaduo dbu_rdO- d€^l'A' ddri

OederrRd.20% mdrd,r d)€SdJ[i"rtrd6! ddd:t^l"dO_t od: dir;ad &eeni$d
dd srd iddi d u3"j' B' oJr O_ dn d enn d-
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A
(r)

25,000
15,000
1,250
2,000
'1,000

500
10,000

5,000
3,000

62,750

12.55

B

'too%

100%
80/"
75V"

100%
20%

100%
257"
25%

Ddeadd
?JderJdd

iiJ C) (JdcJ tO

ilC)u.1,fA

iiJ(J UJsJ to

Ddsidd
sdgsEdd dzJ

:JJdO.J€,1 c"Ji5

e.t,3r daJ

-9e oi,oOt.f dz*

4000 ol)opu,tr d)d: 6000 cirJ&$ di:.)d eruoaduc dJu3,do-. erDsrag o1)rEoutr

dz3d$ dod)3oaobo.

10. a) ?3[$dt3d vqaoS dz*sEtd erodaerfist o$Edd ?

b) dedd 84dqd aad dodiiddJ4.)do:,,.

1'l . t-oo$rddrd Odrdeo= $Etp.g d"ddob d,6,obo$& AdOh.o.,,-dA4


